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QUESTION 1

Which command on a NetApp storage controller will display the average latency time on a per LUN basis every five
seconds? 

A. sysstat -i 5 

B. sysstat -f 5 

C. fcp stats -i 5 

D. lun stats -i 5 

Correct Answer: D 

 

QUESTION 2

The root admin on the UNIX box receives an "Access Denied" message when he attempts to access a newly mounted
qtree. What\\'s the most likely cause of this error? 

A. The qtree is missing from the /etc/hosts file. 

B. NFS is turned off on the storage system. 

C. The qtree is set to ntfs security style. 

D. The qtree has not been exported. 

Correct Answer: C 

 

QUESTION 3

You have a Windows 2003 host using the NetApp ONTAP DSM MPIO environment with a FAS6000 high availability
configuration running single image cfmode. When you disconnect a cable from the FC switch to a storage target port,
how will the I/O fail over? 

A. I/O will fail over to any port on the original controller but NOT on the partner controller that is part of the associated
portset. Choice of path will be controlled by the host\\'s MPIO weighting table. 

B. I/O will fail over to any port on either controller that is part of the associated portset. Choice of path will be controlled
by the host\\'s MPIO weighting table. 

C. I/O will fail over to any port on the original controller that is part of the associated portset. Choice of path will be
controlled by NetApp storage system igroup settings. 

D. I/O will fail over to any port on either controller that is part of the associated portset. Choice of path will be controlled
by NetApp storage system igroup settings. 

Correct Answer: B 
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QUESTION 4

Which two cp types would indicate a busy storage system? (Choose two). 

A. cp_from_log_full 

B. cp_from_busy 

C. cp_from_cp 

D. cp_from_timer 

Correct Answer: AC 

 

QUESTION 5

Protection Manager is an optional component of the Operations Manager that can be licensed and accessed from the
NetApp Management Console (NMC). 

A. True 

B. False 

Correct Answer: A 
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